(=4

SPIRIT OF GAMIEER

aaunne oesk SO0




HEADQUARTER 300

o uG JEVINILS)

Please read the entire manual before beginning assembly. The pictures in the manual are not 100% identical to your desk! This does not impact installation.
Carefully check the contents of the package before you start installing your gaming desk! Keep plastic bags for packaging and protection out of reach of children
to avoid danger of suffocation. Your desk Spirit of Gamer is not a footboard or a scale: be careful! Please check every 6 months that the screws are tight: a small
Allen key stroke to control.

Maintenance tips:

Metal: Clean with mild soapy water, rinse with clean water, drying with a cloth.
Plastic and wood: reqular dusting with a cloth: clean, soft, dry.

Do not use corrosive products to clean your gaming desk.

Open the box and check that all parts are present

Veuillez lire I'intégralité du manuel avant de commencer le montage. Les images du manuel ne sont pas a 100% identiques a votre bureau ! Cela n'impacte pas le
montage. Vérifiez attentivement le contenu de I'emballage avant de commencer l'installation de votre bureau gaming ! Gardez les sacs plastiques d'emballage et de
protection hors de portée des enfants pour éviter tout risque d'étouffement. Votre bureau Spirit of Gamer n'est pas un marche pied, ni une échelle: soyez prudent !
Veuillez vérifier tous les 6 mois que les vis sont bien serrées : un petit coup de clé Allen pour contréler.

Conseils d'entretien::

Métal : Nettoyage avec de I'eau Iégérement savonneuse, ringage eau claire, séchage avec un chiffon.
Plastique et bois : dépoussiérage régulier avec un chiffon : propre, doux, sec.

Ne pas utiliser de produit corrosif pour nettoyer votre bureau gaming.

Ouvrez le carton et vérifiez que toutes les pieces sont bien présentes

@ o | ® o

X6 4 x M6x40

ee
ee

x2 (MB6x50) x2 (MB) x2 (M6x20) x4 x8 (M4x14)

1
Z

®
x6 (M4x18)

(£

4

=

Xe




HEADQUARTER 300

EN: Please take the LED cables out of each leg before attaching them!
FR: Veuillez sortir les cables de chaque pied avant de les fixer !

NL: Verwijder de LED-kabels van elke poot voordat u ze vastmaakt!
DE: Bitte nehmen Sie die LED-Kabel aus jedem Bein heraus, bevor Sie sie anbringen!
IT: Si prega di togliere i cavi LED da ogni gamba prima di collegarli!

ES: Por favor, saque los cables de los LEDs de cada pierna antes de colocarlos!

PT: Por favor, retire os cabos LED de cada perna antes de os fixar!

HU: Kérjlik, vegye ki a LED-kabeleket minden labbal, mielétt rogzitené Gket!




HEADQUARTER 300

LED
CONTROLLER

LED
CONTROLLER

EN: The LED controller cable can be connected on the right or left side. The cables are equipped with IT:E possibile collegare il cavo del controller LED a destra o a sinistra. | cavi sono dotati di un

a coding device to prevent connection errors. dispositivo di codifica per evitare errori di connessione.

FR : Vous pouvez brancher a droite ou a gauche le cable contréleur LED. Les cables sont équipées de ES : Puedes conectar el cable del controlador LED a la derecha o a la izquierda. Los cables estan
détrompeur : un dispositif permettant d'éviter les erreurs d'assemblage de branchement. equipados con un dispositivo de codificacién para evitar errores de conexion.

NL : U kunt de kabel van de LED-controller rechts of links aansluiten. De kabels zijn voorzien van een PT : Pode ligar o cabo do controlador LED a direita ou a esquerda. Os cabos estao equipados
codeerinrichting om aansiluitfouten te voorkomen. com um dispositivo de codificacdo para evitar erros de ligagao.

DE : Sie konnen das LED-Controllerkabel rechts oder links anschlielben. Die Kabel sind mit einer HU : A LED-vezérld kabelét jobbra vagy balra csatlakoztathatja. A kabelek kodold eszkizzel
Kodiereinrichtung ausgestattet, um Anschlussfehler zu vermeiden. vannak ellatva a csatlakozasi hibak elkertilése érdekében.

0 = ([isavavava
xe x8




HEADQUARTER 300

[
®
000
000
g2s
0060 xe

For/Pour

9 Stickers included
Stickers inclus

00000 O
000000 ‘
00000

If needed, tire of the plastic tab to activate the battery
) Si besain, retirez la languette plastique pour activiter la pile




<@z

SPIRIT OF GAMEER

aaunne oesk SO0

More information
www.spiritofgamer.com
Plus d'information
wwwwwwwwwwwwwwwwwwww

JOINUS / REJOINS-NOUS : [E] [E]
WWW.SPIRITOFGAMER.COM E]



